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a® - b* = (a+b)(a - b) P& o]-&5}o] 216 — 15 A5EafishH
916 _ 1 — (28) —12
=(2*+1)(2°-1)
=2+ 1)+ 124 -1)
(28+1)(24+1)(22+1)( -1)
=2+ 1)(2*+1)(22+1)(2+1)(2-1)
=257-17-5-3
m2hA 216 — 12 Wele o Urol BojRl= 13 104H0] 9]
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(2x3 = 3x% + 3x + 4)(3x* + 2x3 — 2% — Tx + 8) 2 AN Ao A] »3
o Ag?

® 31 @ 33 ® 35 @ 37 )39

2x3 x 8 = 3x% x (=7x) + 3x x (—2x?) + 4 x 2x3 = 39x3




3. TF 3 2% +y%+2xy-2x—2y 9] A7t ofd AL?

® x+y @ -x-y

® x+y-2
@x—y ® 2x+2y

~&B

(EA) = (2 +2xy+y*)-2(x+y)
=(x+y)?-2(x+y)
= (x+y)(x+y-2)

St

g

(x+y)(x+y-2) = -y)(x+y-2)

—(=x
%(Qx—l— 2y)(x +y-2)




@6 @-3 o0 @ 3 ® 6
S5

22— x2 x2 x5t

(x> =x+1)(x*-x-3)-5

=(X+1)(X-3)-5

=X2-2X-3-5

=X2-2X-8

= (X-4)(X+2)

=2 -x-4)(x*-x+2)
Tt a=-1, b= -4, c=-10]2&

a+b+c=-1-4-1=-6
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a? — b2 — 2 + 2bc 9] *A57} ofd ALY

@ a-b+c @ a+b-c ® —a+b-c
@—a—l—b—i—c ® —a-b+c

~&B

a? —b? - c® + 2bc = a® — (b + 2 - 2bc)
=a?>-(b-c)?
=(a+b-c)(a b )

A= (a+b-c), (a-b+o)(H BES 55)




T, X202 4912 A5 BSSH?

ONES

@ (x? = 3y?)?
® (2?4 xy + 3y?)(x? — xy + 3y?)
@) (2 + 209 + 3%)(® - 2y + 3?)
® (% + 2xy + 2y%) (2% = 2xy + 2)?)

(F4) = x* + 6x%y? + 9y* — 4x%y?
= (#* +3y%)% - (2xy)?
= (x% + 2xy + 3y*)(x* - 2xy + 3y?)




8. 3x%+2xy -y’ —x+3y-29 Il A7
® 2x+y+1 @ x+y+1 © 2x-y+1
@3x—y+2 ® 3x+y+2

T a=
3x +2xy —x—y? + 3y -2
=3+ (y-Dx-(-1)(y-2)

AL (x+y-1)(Bx-y+2)




9.  a(b®-c?) +b(c? -a?) + c(a® - b?) & A5-EolotH?

@ ~(a-b)(b-c)(c-a) @ (a-b)(b-c)(a-c)

® —(b-a)b-c)(c—a) @ (a-b)b-c)(c-a)
® (a=b)(b-c)(c+a)

8

(£4) = (c = b)a® + (b - c?)a + bc(c - b)
= (c - b){a® - (c + b)a + bc)
= (c=b)(a=b)(a-c)
= (a=b)(b=c)(c-a)




10. a-b=3,b-c=1%2 W, ab® —a?b+ bc?® —b*c + ca® — 2a 2] 27

®-u @12 ©-8 @4  ©o0

B

a-b=3 ---Q, b-c=1 ---©O
O+ONA a-c=4

5. ab® — a®b + bc? — b*c + ca® - c*a

=ab(b-a) + c*(b-a) - c(b®> - a?)

ab(b - a) (b- a){c —c(b+a)}




